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General Instructions:

1. All questions are compulsory. )

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

@Ug-37 / SECTION-A

W HE 194§ vAE 13 2
Question numbers 1 to 4 carry one mark each

o B it 7 SO a, 3a and /10 a & | T I S & TG HIV FI A G SIS | 1

Three sides of a triangle are a, 3a and /10 a. Find the measure of the angle opposite to the
largest side.
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/ - B HITIT : 5in219° + sin2 71°, . 1

- Evaluate : sin? 19°+sin2 71°,

wn iSO WA 1

Find the value of tan 15°.tan 60°.tan 75°

“Feret e 35 60 vl ¥ i S e s Frerferan § :

migs Sa @ 0- 50- 100- {150- [200- | 250-
& 100 150 200 250 300
X #)

faenfdai =+t 5@ | 2 7 8 30 12 1
FEE® 7l 1A DI aYl SgeTH I71 1 SF-1ag |l e |

Monthly pocket money of 80 students of a class a?-qwen in the following distribution :
\
Monthly pocket | 0- 50-  [100- |/150-\ | 200- | 250-

money (in ) o5 100 150 200 {250 | 300

Number of students | 2 7 8 30 12 i |

Find modal class and also give class mark of the Wms.

@UE-§ / SECTION-B
THE ST 510 H TAF $ 2 IHF T
Question numbers 5 to 10 carry two marks each.

5 2,134 U& GG §En § 1 ofig e 7 99 F W F A9 [UHEEl & 9N H A9 = Fw 2
gHEAE?

Is 2.134 a rational number or an irrational number ? What can you say about prime
factorisation of its denominator ?
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- Fee FR R VZ + V5 T st e §1 2

Prove that 42 + /5 is an irrational number

T Fifwe o e g st gm i frefia s m%m{@ﬁgmuﬁm w2
i & 3794 St § :

2% —-3y+6=0
4x-5y+2=0

Find whether the lines representing the following pair of linear equations intersect at a point,
are parallel or coincident :

2x—-3y+6=0

4x-5y+2=0

/ 6.5 m @ WG TF NaR F Y 79 ¥HR Wi & fF wh e PR 25 m @RI AR F w2
STé WA Hiferg SEl Wit F1 v <iar g

A 6.5 m long ladder is placed against a wall such that its foot is at a distance of 2.5 m from the
wall. Find the height of the wall where the top of the ladder touches it. '

/ Frefafiaa gdafae = fag Fifaa 2

cos x (secx — cosx) = sinx

Prove the following identity :

cos x (secx — cosx) = sin?x

10 zuigy fe = @ @ Aot 5, eiR s, A e = &E W Ao A S, 3R S, & em-Iw 2
agas § fafis g 81
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$.:3,58,8,91213,9,9
5,:7,4,7,8,7,8,13

~ Show that the mode of the series obtained by combining the two series S; and S; given below
' is different from that of S; and S, taken separately :

o

51:3,5,8,8,9,12,13,9,9 -

S,:7,4,7,8,7,8,13

WUS-H / SECTION-C
THA EAT11 9208 A& F 3 3F E |

Question numbers 11 to 20 carry three marks each. -

/ é$75ﬁm'ﬁ@ﬁ%m%mﬁm|wuagmaﬁeﬂa%? 3

Write 32875 as product of prime factors. Is this factorisation unique ?

ot 7 8 € on s 1. s L v

1 % o, S o fireent T 1500 s 8, Wit it =@ @t ¥ 91 R e ww S L

A man earns T 600 per month more than his wife. One-tenth of the man’s salary and one-sixth
of the wife's salary amount to ¥ 1500, which is saved every month. Find their incomes.

/ a?ﬁ'aéli%lq Ea gus xz—Zx,lﬁﬁﬁlis-sz{éx <l TIHEYS T il ﬁa‘ﬂﬁﬁrwfiiiﬂﬁ g 3
- Fef Hifsg s

By division method check whether the polynomial xz— 2x is a factor of the polynomial ::3—53:2 +6x.
Verify by division algorithm.

-1 fafy QA ww Y 3
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2x+y=5

3x+2y=8

/olve using cross multiplication method :
2x+y=5

3x+2y=8

B
| 1
' QA 5

e # guid 7 Reufd STHER U 26 m Tl Hid A W ¥ 59 F 99 ER PQ F WY @l fF
W1 R, A 9% 24 m SUE o YEud! &) 5 36 @6 F AR RS ¥ @iy @ 9 8, 9 € 10 m
S o wguet ¥ 1 9Ri & <= @i g 7 S

P R
B
C
Q A S

As shown in the figure, a 26 m long ladder is placed at A. If it is placed along wall PQ, it
reaches a height of 24 m, whereas it reaches a height of 10 m, if it is placed against wall RS.
Find the distance between the walls.

16~ 0% Tar 31§ ¥ 74w Foe U o 999 W IS ¥ | e wan e I fewn # 500 frenteva
A W 3% ® 991 g0 gd AR 650 Freirievsia F @@ @ s #1 S s v 36 e
wErsi & #i= i gl 9@ Hied |

From airport two aeroplanes start at the same time. If speed of first aeroplane due North is
500 km/h and that of other due East is 650 km/h, then find the distance between two

aeroplanes after 2 hours.
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/ IfE 7sin2A + 3cos2A =4 ﬁl??ﬁ'ﬂﬁ'tanA=-\% 21

If 7sin2A + 3cos2A =4, show that tanA = 71? 3

J 2 1-—cosb

(cot® —cosecd)” =
1+cosb

Prove that :

(cotd —«cosecﬂ)2 ™
1+cosb

' 7/ % S §, RfEee ¥ A # og w1 e W TR Wd g9

&g (asi 9) 0-15 | 1530 |3045 |45-60 |60-75
Afirat =1 g&m 5 20 40 50 25
HIEA TG T I |
In a hospital, age record of diabetic patients was recorded as follows :
Age (in years) 0-15 [15-30 |30-45 [45-60 |60-75
Number of patients 5 20 40 50 25
Find median age.

/ afe et sied &1 Tea 78 , A @ SRERa (x) T HIC :

Eul 50-60 60-70 70-80 80-90 90-100

ARSIl 8 6 12 11 x

In the following distribution, if mean is 78, find the missing frequency () :

Class 50-60 60-70 70-80 80-90 90-100

Frequency | 8 6 12 11 x

@us-g / SECTION-D
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TR WA 21 9 31 ¥ YT B 4 9 €
Question numbers 21 to 31 carry four marks each.

davea demel a kb #HCF @R LoMwmEM? | 4

‘a’ramriaz_'!ﬁmz 6,9 3R 15 fie ¥ siatet W awt §) R F g S €, A e T R
3 Qe g a2 :

/5’} What is the HCF and LCM of two prime numbersaand b ?

Three alarm clocks ring at intervals of 6, 9 and 15 minutes respectively. If they start ringing .
together, after what time will they next ring together. ‘

/z/ 1 T T T s fore et s sl B ¥ suRhn su A snw e E 4

(k—3) x+3y=k, kx + ky=12

Determine the value of k for which the following system of linear equations has infinite
number of solutions :

k-3)x+3y=k kr+ky=12 @ _p _ G

— P —

Ao b Ca

/ZZ/E@E' 9xd — 623 — 35x2 + 24x — 4 % Q Y 271 -2 §1 T Tt YT Aw M) 4
 Obtain all other zeroes of the polynomial 9x4 - 6x®—35x2+24x —4, if two of its zeroes are 2
and —2.

/ T el 1 TN 6x4+8x3 +17x2+ 21x+7 F T VR fHa 1 gehar B 7 TR R 4
222+ 5 Teht fireft 3R e & o8 x+2 W 579 W1 o= A 39 Y | sl wegw & fag v
e 3 Heigd WA 7 Fify, 9 e fren ) 39 @ 9 e swig T R ?

A factory has a profit fund represented by 6x%+8x®>+17x2+21x+7. The fund is equally M‘*’g l ?\w}j )
divided between each worker of thvggﬁ'_tgry. Each worker receives an amount of (x2 + 5) while
after distribution, ;@;n ant is left. The management decides to use this amount to create a
medical aid fund. Find the number of workers who received the fund. What values have
been depicted here ?
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fos Fifvm for ww wweta & fal o g A o @ orgem A ek w9 € ' | 4

Prove that the diagonals of a trapezium intersect each other in the same ratio -

feu Mg fas § AD=3 cm, AE=5 cm, BD=4 cm, CE=4 cm, CF=2 cm, BF=2.5 cm &, @l ¥°i 4
Tl ! 9 Fifae 3T A TR o Fa i

In the given figure, AD=3 cm, AE=5 cm, BD=4 cm, CE=4 cm, CF=2 cm, BF=2.5 cm, then
find the pair of parallel lines and hence their lengths.
w,t, AVETE

A
Sadr™ .
S rovaldy
st

B25cmF 2cm C

/ APQR § Q WH®M ¥ QR=3 cm 3R PR-PQ=1 cm %! sin R, cos R &R 4
tan R &1 911 T FI9C |

P
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" In APQR, right angled at Q, QR=3 cm and PR— ~PQ=1 cm. Determine the values of sin R, cos

/ Rand tanR.

s

+ sinA + Jl—sinA

2 = 25ecA=2(sinA tanA + cosA)
1+ sinA

" Prove that:

J iy smA = 2secA=2{sinA tanA + cosA)
- san 1 + sinA

cosecA + 1 [cose«::!’k—lﬂ2
cosecA —1 VcosecA +1

Prove that :

[cosecA +1  [cosecA —1

. = 2secA
VcosecA—l cosecA + 1 sec

- 3{ - Frafafes afae o Seaet % 50 FoR! #t 3 sme e £ 39 vH5R % (‘TR yER®' 4
91 ‘ sife yeR =1') dro Eifem)
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100—120 | 120—140 | 140—160 | 160 —180 | 180 —200

FRITR S 9&A1 | 12 14 8 6 10

The following table gives the daily income of 50 workers of a factory. Draw both types (“less

than type” and “m}u\type") ogives

¢ A
Daily income (in%) ? 1?07’120 120-140 | 140-160 | 160—180 | 180200

[ Mo

Number of workers |12 14 8 6 10
50 Y0 | AiEensHl H wERal X, T SRewar 9eq J g9iiE T © 4
i s030 |30 |40 50- |60- |70 |80- |00
(% 40 |50 |60 |70 |80 |90

W R S | 3 2 6 15 |8 7 5 |4

IR AHS! & Sgad 9 HIEFS [Id e |
The literacy rate of females in 50 cities is given in the frequency distribution :
30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90
. 30 100
(in %)
moe Sz 12 s Jm {8 ¥ |5 la
cities

Find the mode and median of this data.

Mode: = Qs b )vlf-\-
026: - 6—2’&0
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